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The NNA says that a N10P whose mother and brother married her to a |ND can eat
NNINN. Why aren’t we concerned about her ability to eat N"1NV2? In addition to the
fact that this is P902 |'NIW"] because she can be |KND, doesn't her lack of NYT
effect her ability to keep it from becoming XNV?

ININW NN '"WN 12 N''N 21 said that someone who lived with an wan NWX will not
have to bring a "IN DWN, which is usually brought when it's a p90 whether he
violated a 110'N. At the conclusion of its discussion the X1Na says that his reasoning
is due to the fact that it's not like eating one of two pieces, whereby one of them is
for sure NION. Since this seems to be his main point, why choose a case of a wan to
bring it out? He could have chosen many examples where the 110'X is not like one
of two pieces?

If a wN is lucid sometimes and not at other times, why can’t a Ua work DVLODN a
NPDOO POO? If he was lucid at the time of |'WITP maybe he was also a NYT 12 at the
time of |'wIN'a, and if he is not lucid at the time of divorce, maybe she doesn't need
a LA because he was similarly not lucid when he was WTpn her? (See R2'py 2N
A'N).

When NTATIA |2 |INI' 127 says that a deaf girl whose father married her, can be
divorced via a L3, is it because the father can accept it on her behalf, or because she
accepts? Would the same apply to a nOIW?

N2 said that we can learn from KTATIA |2 |3NI' 121 that if a man said to D'TY see
this 0A and than told his wife here is your 21N M0V, it a good LA. What would
happen if he said nothing to her or to the D'TY and just gave it to her?



6. Further to the above, AN NN IND DT "wN writes |'"WIN'A2 NWNT. What is he
explaining with this? Isnt it clear that the whole N'AID is discussing not needing her
nyT?

If you have any comments or suggestions please email me at

Ygrunhaus@gmail.com
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